Why Did Igor Spend 10
Years Studying Geology?

Find the least common multiple (LCM) for each
pair of numbers. Look for your answer in the set
of boxes under the exercise. Write the letter of
the exercise in the box containing the answer.

@ LCM of 3 and 5

(E) LCM of 4 and 6 LCM of 10 and 70

@ LCM of 2 and 9 LCM of 5 and 2

(H) LCM of 9 and 12 LCM of 11 and8

Q)
®
(O) LCMof 10 and 4 (E) LCMof15and9
O,
®

@ LCMof 6 and 5 LCMof 12 and 20

LCM of 10 and 6

@ LCM of 8 and 6

@ LCM of 15 and 25 LCM of 7 and 8

@ LCM of 4 and 8 LCM of 25 and 10

@ LCM of 6 and 9 LCM of 45 and 15

® LCM of 8 and 10 LCM of 30 and 40
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LCM of 24 and 9

@ LCM of 9 and 4

40
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